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Chapter 5
Reading Organizer
After completion of this chapter, you should be able to:

· Compare and contrast a flat network and a hierarchical routed topology.
· Configure a network using RIPv2.
· Describe and plan a network using EIGRP.
· Design and configure a network using EIGRP.
5.1
1.  Explain the characteristics of star topologies.
2.  Explain the characteristics of Mesh topologies.

3. Explain the characteristics of Partial Mesh topologies.

4. Explain the characteristics of Full Mesh topologies.

Complete Lab Activity 5.1.2

5.  The show ip route command can give network administrators invaluable information.  Explain each of the following show ip route components.
Sample:    R    192.168.4.0/24 [120/1]  via 192.168.2.2,  00:00:26,  Serial0/0/0
Routing Information Source -

Destination Network Address and Subnet Mask -

Next Hop –

Exit Interface  -

Administrative Distance and Hop Count –
6. Explain the following terms:
Directly Connected Routes -

Static Routes -

Dynamic Routes -

Complete Packet Tracer Activity 5.1.3 
Instructor Initials _______________
7. What is a stub network?

8.  Summarizing several static routes as a single entry reduces the size of the routing table and makes the lookup process more efficient. This process is called route summarization.  A single static route summarizes multiple static routes if:

a. 

b. 

Complete Packet Tracer Activity 5.1.4 
Instructor Initials _______________
9.  Explain what default routes are and how they operate.

Complete Packet Tracer Activity 5.1.5 
Instructor Initials _______________
5.2

10. Dynamic routing protocols are classified into two major categories.  These are:

a. 

b. 

11. Routers using distance vector protocols such as RIP or EIGRP broadcast or multicast their entire routing table to their neighbors at regular intervals. What happens if a router learns more than one route to a destination?

12. Why does RIP version 1 not support VLSM?

13.  RIPv1 automatically summarizes networks at the classful boundary, treating all networks as though they were default classes A, B, and C. As long as networks are contiguous, such as 192.168.1.0, 192.168.2.0, and so on, this feature may not pose a serious problem.   However, if networks are discontiguous what can happen?

14.  By default how often are RIPv1 updates sent?

15.  What is the primary difference between RIP v1 and RIP v2? 
16.  RIPv2 shares many of the features found in RIPv1.  These are:
a. 

b. 

c. 

d. 

e. 

f. 

g. 

h. 

17.  When a router starts up, each RIP-configured interface sends out a request message. This message requests that all RIP neighbors send their complete routing tables. RIP-enabled neighbors send a response message that includes known network entries. The receiving router evaluates each route entry based on what criteria: 
a. 

b. 

c. 

18. [image: image1.png]Activity
Identify the characteristics of RIPv1 and RIPv2.
Check the appropriate box to indicate if the feature is found in RIPv1, RIPv2 or both. BIP RIPv2 m

1. Automatic route summarization

2. No authentication

3. Hop-count metric

4. Default 30-second update interval

5. Administrative distance of 120

6. Supports VLSM

7. Sends subnet mask in routing updates

8. Uses route poisoning, poison reverse, split horizon and holddowns to avoid loops

9. Broadcast updates





19. The basic RIP configuration consists of three commands.  Explain what each command does.

Router(config)#router rip

Router(config)#version 2

Router(config-router)#network [network address]

Complete Lab Activity 5.2.3

Complete Packet Tracer Activity 5.2.4 
Instructor Initials _______________
20.  What commands can be used to verify and troubleshoot any routing protocol?


a. 

b. 

Complete Packet Tracer Activity 5.2.5 
Instructor Initials _______________
5.3

21. How many hops is RIP capable of?

22.  Cisco developed EIGRP as a proprietary distance vector routing protocol.  What does that mean.

23.  What are the characteristics of EIGRP?

a.  

b. 

c. 

d. 

e. 

f. 

g. 

h. 

i. 

j. 

k. 

24. What is the default administrative distance for EIGRP?

25. How does EIGRP maintain knowledge of it’s neighbors?

26. To store network information from the updates and support rapid convergence, EIGRP maintains multiple tables. Thses are:

a. 

b. 

c. 

27.  Explain feasible successors?

28.  EIGRP displays information about routes in two ways.  These are: 

a. 

b. 

29. [image: image2.png]Determine which EIGRP table would be the most appropriate to find the specified information.

Check the appropriate EIGRP table for each requirement.

1. Interface connected to neighbor device

2. Next hop address for the feasible successor

3. Amount of time since an adjacency was established

4. State that DUAL has calculated the route

5. IP address of neighbor devices

6. The successors advertised distance

7. The route was leamed from an external routing process

8. The administrative distance associated with the route





30. How are active and passive states used in EIGRP?

31. As a routing protocol, EIGRP operates independently of the Network Layer. Explain how this is accomplished.

32. EIGRP uses a composite metric value to determine the best path to a destination. This metric is determined from what values:

a. 

b. 

c. 

d. 

33. Sometimes the bandwidth value may not reflect the actual physical bandwidth of the interface.   Explain how can this be a problem?

34. 

[image: image3.png]Examine the network diagram and answer questions about the feasible distance (FD), advertised distance
(AD), and the successor route for specified routes.

Select the correct answer to the questions regarding the network diagram.
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a. What is the feasible distance to network A from R5 via R3?
______

b. What is the advertised distance to network A from R5 via R3?
______

c. What is the feasible distance to network A from R5 via R4?
______

d. What is the advertised distance to network A from R5 via R4?
______

e. What is the successor for route for R5 to get to network A?
______

f.  What is the feasible distance to network B from R4 via R5?
______

5.4

35. What commands do you use to set up EIGRP on your router?

Complete Lab Activity 5.4.1

36. Explain manual summarization.

Complete Packet Tracer Activity 5.4.2 
Instructor Initials _______________
Complete Lab Activity 5.4.2

37. What information can be gained by using the show ip route command?
a. 

b. 

c. 

Complete Packet Tracer Activity 5.4.3 
Instructor Initials _______________

38. Although EIGRP is a powerful and sophisticated routing protocol, several considerations limit its use, thses are:

a. 

b. 

c. 

d. 

e. 

f. 

g. 
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